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TOPICS

SUBIJECTS

English 1. Debate writing- Write a debate in 120 - 150 words either for or against the motion on the
topic, "Is online learning as effective as traditional classroom learning?"

2. Read play - Mother’s Day (Snapshots)

3. Complete all written work in notebook.

4. Short Answer Questions - Answer the following questions in your literature notebooks.

(i) Where was Andrew led by Joe? Why didn't Joe enter with the doctor?

(ii) What confused Andrew? How did he save Susan?

(iii) What affected Andrew’s performance at Morgan’s house? How did it influence his career?
(iv) Why does the poet not talk great of grown up people? (Childhood?

(v) . ‘Producing thoughts that were not these of other people' means?

(vi) What according to the poem is involved in the process of growing up?
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Political
science

GENERAL INSTRUCTIONS:
i. All Questions are compulsory.
ii. Do it on one-line sheet.

1.
Which article deals with the amendment process of the constitution of
India?

2.
hat is meant by Special majority?

3.Name the process of the removal of the judges of the Supreme Court.
4.Name any two issues of interstate dispute in India.

5. Describe the Provisions of the constitution that create a strong central
government in India

6. Explain 73" and 74" Amendment related to Local bodies in India.
7.Describe the Amendment process as given in the Constitution of India.

8. Who appoints the judges of the Supreme Court? What is meant by
Collegium in case of appointment of judges?

9. Basic Structure Theory was given by Supreme Court in ...........ccceeu... case.
10. The most controversial Amendments to the Indian Constitution are

11. Choose the correct statement from the following.

A constitution needs to be amended from time to time because,

a) Circumstances change and require suitable changes in the
constitution.

b) A document written at one point of time becomes outdated after
some time.

c) Every generation should have a constitution of its own liking.

d) It must reflect the philosophy of the existing government.

12. Write True / False against the following statements.

a) The President cannot send back an amendment bill for




reconsideration of Parliament.

b) Elected representatives alone have the power to amend the
Constitution.

c) The Judiciary cannot initiate the process of constitutional
amendment but can effectively change the Constitution by
interpreting it differently.

d.) Parliament can amend any section of the Constitution.

13. Describe the features of Federalism in India.

14. How has Powers been divided in India between the central and the State
Govt?

15. Describe the structure of Panchayati Raj System.




Economics |GENERAL INSTRUCTIONS-

1- Attempt all questions
2- Do the Assignment in one- line sheet

PRESENTATION OF DATA

1. Which of the following is not a method of presenting data?

(a) Tabulation

(b) Diagrammatic representation

(c) Statistical analysis

(d) None of these

2.Which of the following statements is true?

a. Breadth of the bar is different

b. Bars may be drawn either vertically or horizontally

c. Bars need to be equidistant from each other

d. All of these

3. Which of the following is not a graphical method of presenting data?
(a) Bar diagram

(b) Pie chart

(c) Histogram

(d) Frequency polygon

4. Which of the following is not a limitation of tabulation?

(a) It is not suitable for large data sets.

(b) It is not suitable for comparing data sets.

(c) It is not suitable for presenting data in a clear and attractive manner.

(d) None of these




5. Which of the following is not a limitation of diagrammatic representation?
(a) Itis not suitable for presenting large data sets.

(b) It is not suitable for comparing data sets.

(c) It is not suitable for presenting data in a clear and attractive manner.

(d) It is not suitable for showing the relationship between different variables.
6. One dimensional diagrams are also known as:

a. Pie Diagrams b. Histogram  c. Bar Diagrams d. None of these

7. The number of columns in a table is known asthe ______

(a) Width

(b) Length

(c) Body

(d) Rows

8. There are ............. quadrants in a graph paper.

a.l b.2 c3 d4

9. Frequency Polygon is prepared in case of :

a. Individual Series b. Discrete Series c. Continuous Series d. None of these

10-Read the following statements Assertion (A) and Reason (R). Choose one of the
correct

alternatives given below:

Assertion (A): A proper proportion between the vertical axis and horizontal axis of
the diagram

should be marked.

Reason (R): Mathematically, dependent variables are measured on the Y-axis and
independent

variable on X-axis.




a. Both Assertion (A) & Reason (R) are true and Reason (R) is the correct explanation
of

Assertion.

b. Both Assertion (A) & Reason (R) are true, but Reason (R) is not the correct
explanation

of Assertion.
c. Assertion (A) is true, but Reason (R) is false
d. Assertion (A) is false, but Reason (R) is true

DRAW THE FOLLOWING:

Question 1: Make a suitable diagram of the following data on population in India:

Year 1951 |1961 |1971 (1981 |1991 |2001 (2011

Population (crore) 36.1 [43.9 [54.8 1|68.3 1|84.6 (102.8 [121.0

Question 2:Give a diagrammatic presentation of the following data on India's
Exports and Imports:

Year Export (3, crore) |Import (4, crore)
2018-19 |18,96,445 27,37,087
2019-20 |117,16,378 24,90,298
2020-21 (18,522,429 25,77,666

A

Question 3: Make a bar diagram of the following data on India's population:

Year 1971 1981 (1991 |2001 2011

Population (crore) 54.8 68.3 84.6 102.8 121.0

Question 4: Make a multiple bar diagram of the following data:




Number of Students

Faculty

2018-19 2019-20 2020-21
Arts 600 550 500
Science 400 500 600
Commerce 200 250 300

Question 5: Following table shows estimates of cost of production of certain
commodities. Present the data in the form of a sub-divided bar diagram:

Goods
Estimate of Cost

A B C D
Raw material 50 40 45 50
Wages 40 40 40 40
Fixed Costs 10 12 15 15
Office expenses 10 8 10 5
Total Cost 110 100 110 110




Geography

1. Complete Your Practical File.

2. Learn the Question and answer for the

PT 2.

3. Map Work (Mark the following):
World map

(a) Ring of Fire

(b) Hawaii Volcanic Island

(C) Aleutian Trench

(d) Java trench

India Map

(a) Mark the state through which IST passes
(b) Active Volcano of India

(c) Pangong Tso Lake

(d) Patkai hill

(e) Barak river

IP

1. Prepare your Practical File.

2. What do you mean by a List in Python. Explain all types of list with example.
3.Explain following functions of list with examples.

(a)pop()

(b)remove()

(c)del statement

(d)clear()

(e)sort()

(f)count()

4. What is a dictionary in python. Explain all characteristics of dictionary.
5. What do you mean by nested dictionary?

6. Explain any five function of dictionary with example.




Phy Edu

Assignment

(1)The respiratory system is made up of lungs, trachea and

A —Liver B- Pancreas  C- Diaphragm D- Esophagus

(2) How many chambers are there in heart?

A-Two B-Three C-Four. D-Five

(3)Which one of these joints is not a freely movable joint ?

A- Hing jointB-Pivot joinC-Saddle jointD Symphysis joint

(4) Preventing sports injury the knowledge of _ is essential ?
A- PhysiologyB-Anatomy c- 2 BotanyD- All of above

(5) Cardiac muscles are found in:

A- GIT B Kidneys. C- Respiratory tract. D-Heart

(6)Which one of the following indicates child’s physical growth ?
A- Negative B- Qualitative  C- Quantitative D- Positive
(7) A training program for sports person should:

A- Conditioning B- Sports training. C-Psychological trainingD-All of
above

(8)Which of the following stage of team cohesion represents the beginning?
A-Forming B- StormingC- Norning D- None of the above

(9) Which out of following is the science of behaviour ?

A- Psychiatry B- Physiology. C-. PsychologyD-None of above

(10) Who said this, “sports psychology explodes one behaviour in athletics”?
A- Pillsbury  B- Watson. C- Wood worthD-Singer

(11) The point on which weight of the whole body acts is called.

A- Inertia point.  B- Centroid. C- Centre of gravity. D- Central point

(12)How many bones are there in our lower limbs.




A- 60. B- 62. C- 64. D- None of these
(13) What is approximate weight of human heart?

A- 200g. B- 400g. C- 300g. D- None to these
(14) The human heart is about the size of a/an.

A- Average size apple. B-Hen'segg. C-Man’s closed first.
almond

D- Big

(15) how many bones are there in upper limb?

A-64. B-26. C-52. D-34

(16) What is meant by team cohesion ?

(17) Explain organs of respiratory system in details?

(18) What is a joint? mention about the major types of joints?
(19)What is physiology? write its importance.

(20) Define psychology ?Discuss its importance in field of sports.




